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NJ-1264

B.Sc. (Part-I) Examination,
Mar.-Apr., 2023
CHEMISTRY

‘Paper - I
(Organic Chemistry)
Time Allowed : Three Hours
Maximum Marks : 33

Minimum Pass Marks : 11

He . W g B IR b
Note : Answer all questions.
go1g-1 / UNIT-I
Q. 1. (a) ®RUr Afed fefae - 2+2=4

(i) vHfes 3 B e wififes e waa 2|

NJ-1264 P.T.O.



(2)
(i) e v s & geET H Yed aR @)

Write with reason :
(i) Formic acid is stronger than acitic acid.
(i) Methyl amine is stronger base than
- ammonia.
(b) e fawwer fowos @ Teron wied
TS | 3
Explain homolytic and heterolytic cleavage

with examples.

3iyar / OR
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(3)

(a) PN T & ? FUP YBR TF F P /Y I
quie el 4
What is carbene ? Describe its type and

method of preparation.

(b) FfeRea & srFARY m%ﬁw 1+1+1=3
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(4)

Draw resonating structure of given

intermediates

goB-1I / UNIT-II

Q. 2. (a) iR ) ok ke 2

Write short notes on racemization.
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()

(b) n%%wmuamﬁﬁwmaﬁrmﬁ%a
fofae| | 3
Write Enantiomer and Diastereomer with
examples.

(c) Dextro and laevo gaur gofe @ar & ? 2
What is dextro and laevo rotatory ?

AYar/ OR

(a) FiciRea @ ameRor Wik wwsmEe - 1%+1%=3

(i) vdR

(i) fafere gofa
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(6)
Explain the following with examples :
(i) Epimer
(i) Specific rotation
(b) CHy - CH = CH — CH = CHCI @ foem
safifa E<ae §9e 8 ? 2
How many geometrical isomer is possible in
CH, — CH = CH — CH = CHCI.
(c) gﬁﬁmmﬁmﬁmmIZ
Explain isomerism in tartaric acid.
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(7)

so-111 / UNIT-III

Q. 3. (a) SRR @ g T &7 S A HAE
forae| ' 4
What is Bayer strain theory ? Write its two

limitations.
(b) SE @ &2 nEPA b wEW P Ao
Gl - 3
What is conformation ? Explain conformation

of n-butane.

siyar / OR
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(8)

(@) W &R & R el & fre s
G FEE| ‘ 3%
Draw the energy profile diagram of different
cbnformation cyclohexane.

(b) <TETr srmq ¥ oM@ fe@ dem §w B
e | 2
Explain strainless 'banana bond' in

cyclopropane.
(c) Frferiaa @1 wiaRa wd R wa fRae : 11,

() CHy - CH, - CH, - CH,
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(9) .

(i) CHy = CH,4
(iii) CH,Br — CH,Br
Write eclipsed and staggered forms of the
following :
(i) CH; - CH, — CH, — CHj
(i) CH,— CH,
- (iiiy CH,Br — CH,Br
gag-IV / UNIT-IV
Q. 4. (a) wgaEs @ JuRRfd # fd9 ) HBr & M

@ rafafer fofaw 3

NJ-1264 P.T.O.



(b)

NJ-1264

- (10)

Write mechanism of .addition of HBr in

propene in the presence of peroxide.

Friomaa afifsamsll @ gof Siioe : 1+41+1=3

() R-C=c-R—2a/M0 >[A] +[B]
. (I)H=CHBr——22n—>[C]+[D]
I
Br
i
(i) R-C-R— "2 =P(PN), 5[E]

Complete the following chemical reaction :

() R-c=c-R—2M0 a1, (5)

27
" EH =CHBr—==1,[C] + (D]
r



(11)

O

| .
i) R-c-r—Cre=PPN)

>l
Jyar / OR
(a) Ao Fraw @ JaeRvr Wfed @wgEEl 3
Explain Saytzef rule with examples.
(b) Tt ¥ e o Ak wia aok
Bt | | 3
Describe halogenation in alkane with

~ reaction mechanism.
goi-V /| UNIT-V

Q.5 (a) Frfofaa siufdast & bafd®r oRae : 2+2=4
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(12)
(i) N9 A AEGIDHROT
(i) 9 A TEOFIBIOT
Write the mechanism of following reactions :
(i) Nitration in Benzene
(i) Sulfonation in Benzene
(b) ﬁm%ﬁaa oG el & RiiRs difiret

& UggH DI : 2

0
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Identify the aromatic compounds from the

following organic compounds :
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(a) R, ﬁﬁ??l:r ®RRA w6 I Eﬁ.
RARET B PR R qoi a?rf%lul 3
Describe. aromaticity of pyrole, pyridine,
furan and thiopﬁene with reason.

(b) WRTANICERENT Wy ug NSaeiReT-aShe-

g Rt & i »
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(15)'

Why cyclopentadinyl anion and

cycloheptatrinyl cation is aromatic ?
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